

ON SOME INEQUALITIES FOR CONVEX FUNCTIONS AND SOME RELATED APPLICATIONS

Josip E. Pečarić

1. Let $x_i \in I$, and $p_i \geq 0$ ($i = 1, \dots, n$) are real numbers, f is convex function on I and

$$m = \min x_i, M = \max x_i, \bar{x} = \frac{\sum_{i=1}^n p_i x_i}{\sum_{i=1}^n p_i}.$$

Then JENSEN and converse JENSEN inequalities hold (see [1]), i.e.

$$(1) \quad f(\bar{x}) \leq \frac{\sum_{i=1}^n p_i f(x_i)}{\sum_{i=1}^n p_i} \leq \frac{M - \bar{x}}{M - m} f(m) + \frac{\bar{x} - m}{M - m} f(M).$$

From (1), we can get the following result:

THEOREM 1. *Let x_1, \dots, x_n be equidistant points from I . Then for every convex function f on I*

$$(2) \quad f\left(\frac{x_1 + x_n}{2}\right) \leq \frac{1}{n} \sum_{i=1}^n f(x_i) \leq \frac{f(x_1) + f(x_n)}{2}$$

If $n > 2$ inequality is strict unless f is a linear function.

PROOF. If $p_1 = 1$ ($i = 1, \dots, n$), then $m = x_1, M = x_n, \bar{x} = (x_1 + x_n)/2$, and from (1) we obtain (2).

REMARK 1. Inequalities (2) are related to HADAMARD' s inequalities, which, analogously to the previous proof, we can get from integral analogue of (1).

COROLLARY 1. The function $f(x) = -\ln x$ is convex for $x > 0$, so, from (2) we get

$$(3) \quad (x_1 x_n)^{\frac{n}{2}} < \prod_{k=1}^n x_k < \left(\frac{x_1 + x_n}{2} \right)^n \quad (n > 2),$$

where $(x_t)_{t=1, \dots, n}$ is an arithmetical sequence.

REMARK 2. The inequalities (3) are generalizations of some results from [2, pp. 190].

COROLLARY 2. Let $(x_t)_{t=1, \dots, n}$ and $(y_t)_{t=1, \dots, n}$ ($n > 2$), are two positive increasing arithmetical sequences and let

$$(4) \quad x_1 y_n > x_n y_1.$$

Then

$$(5) \quad \left(\frac{x_1 + x_n}{y_1 + y_n} \right)^n < \prod_{t=1}^n \frac{x_t}{y_t} < \left(\frac{x_1 x_n}{y_1 y_n} \right)^{\frac{n}{2}}$$

If the reverse inequality in (4) holds then the reverse inequality in (5) holds, too.

PROOF. The function $f(x) = \ln \frac{ax - b}{cx - d}$ ($a, b, c, d > 0, x > \max \left(\frac{b}{a}, \frac{d}{c} \right)$) is convex for $ad > cb$ and concave for $ad < cb$. From

the other point of view there is always existence of an increasing sequence $(\alpha_t)_{t=1, \dots, n}$ such that $x_t = a\alpha_t - b$ and $y_t = c\alpha_t - d$, so from (2) we obtain (5).

REMARK 3. Using (5) (and (3)) we can easily get some inequalities for

$\binom{r}{n}$ where $n \in \mathbb{N}$ and $r \in \mathbb{N}$ or \mathbb{R} . For example

$$\left(\frac{2r - n + 1}{n + 1} \right)^n < \binom{r}{n} < \frac{1}{n!} \left(\frac{2r - n + 1}{2} \right)^n \quad (n > 2).$$

wherefrom an inequality from [3] follows (see also [2, pp. 192]).

COROLLARY 3. Let $(x_t)_{t=1, \dots, n}$ be positive increasing arithmetical sequence. Then

$$(6) \quad \Gamma \left(\frac{x_1 + x_n}{2} \right)^n = \prod_{t=1}^n \Gamma(x_t) = (\Gamma(x_1) \Gamma(x_n))^{n/2}$$

PROOF. The function $x \rightarrow \ln \Gamma(x)$ is convex, so from (2) we obtain (6).

REMARK 4. The inequalities (6) are generalizations of some results from [2, p.].

COROLLARY 4. The function $f(x) = x \ln h$ is convex for $x > 0$, so from (2) we get

$$\left(\frac{x_1 + x_n}{2} \right)^{\frac{x_1 + x_n}{2}} < \sqrt[n]{x_1 \cdots x_n} < \sqrt{x_1 x_n} \quad (n > 2)$$

2. THEOREM 2. Let $(x_i)_{i=0,1,\dots,n+1}$ is an increasing arithmetical sequences, $x_{k+1} - x_k = h$ and $x_i \in I$ ($i=0, 1, \dots, n+1$). Then for every convex and differentiable function f on I the following hold:

$$(7) \quad \frac{f(x_n) - f(x_0)}{h} < \frac{f(x_n) - f(x_1)}{h} + f'(x_1) < \sum_{k=1}^n f'(x_k) \\ < \frac{f(x_n) - f(x_1)}{h} + f'(x_n) < \frac{f(x_{n+1}) - f(x_1)}{h}.$$

If f is a concave function then the reverse inequalities are valid.

PROOF. Let f be a convex and differentiable function on I . Then (see for example [4]):

$$(8) \quad f(x) + hf'(x) < f(x+h) < f(x) + hf'(x+h) \quad (h \neq 0),$$

where $x, h \in \mathbb{R}$ and $x, x+h \in I$.

For concave function signs of inequality change their sense. From (8) we get

$$(9) \quad f(x_k) + hf'(x_k) < f(x_{k+1}) < f(x_k) + hf'(x_{k+1}),$$

Summing these series of inequalities for $k = 1, \dots, n-1$, we obtain

$$\sum_{k=1}^{n-1} f(x_k) + h \sum_{k=1}^{n-1} f'(x_k) < \sum_{k=2}^n f(x_k) < \sum_{k=1}^{n-1} f(x_k) + h \sum_{k=2}^n f'(x_k),$$

wherefrom we get the second and the third inequality from (7). The first and the fourth inequality from (7) we obtain on basis (9).

COROLLARY 4. For $f(x) = x^{m+1}$, from (7), we get for each $m > 0$

$$(10) \quad \frac{x_n^{m+1} - x_0^{m+1}}{h(m+1)} < \frac{x_n^{m+1} - x_1^{m+1}}{h(m+1)} + x_1^m < \sum_{k=1}^n x_k^m < \frac{x_n^{m+1} - x_1^{m+1}}{h(m+1)} + \\ + x_n^m < \frac{x_{n+1}^{m+1} - x_1^{m+1}}{h(m+1)}.$$

If $m < 0$ ($m \neq -1$) the reverse inequalities are valid.

From the second and the third inequalities we get

$$\lim_{n \rightarrow \infty} \frac{\sum_{k=1}^n x_k^m}{x_n^{m+1}} = \frac{1}{h(m+1)} \quad (m > -1)$$

the generalization of the result from [5].

REMARK 5. For $x_i = i$ ($i = 1, \dots, n$), from (10), we obtain the result from [4]

COROLLARY 5. For $f(x) = \ln x$ we obtain

$$\frac{1}{h} \ln \frac{x_{n+1}}{x_1} < \frac{1}{h} \ln \frac{x_n}{x_1} + \frac{1}{x_n} < \sum_{k=1}^n \frac{1}{x_k} < \frac{1}{h} \ln \frac{x_n}{x_1} + \frac{1}{x_1} < \frac{1}{h} \ln \frac{x_n}{x_0}.$$

If $x_1 = n$, $h = 1$, we get

$$(11) \quad \ln \frac{s+1}{n} < \ln \frac{s}{n} + \frac{1}{s} < \sum_{k=n}^s \frac{1}{k} < \ln \frac{s}{n} + \frac{1}{n} < \ln \frac{s}{n-1}.$$

Denote

$$s_n(p, q) = \sum_{k=pn+1}^{qn} \frac{1}{k}, \quad S_n(p, q) = \sum_{k=pn}^{qn-1} \frac{1}{k} \quad (q, p \in N, q > p).$$

Then the following result holds:

COROLLARY 6. For fixed natural numbers p and q ($q > p$), the sequence $s_n(p, q)$ is strictly increasing, and the sequence $S_n(p, q)$ is strictly decreasing and

$$(12) \quad \ln \frac{q+1}{p+1} < \ln \frac{q}{p+1} + \frac{1}{q} < s_1(p, q) \leq s_n(p, q) < \ln \frac{p}{q} < S_n(p, q) \\ \leq S_1(p, q) < \ln \frac{q-1}{p} + \frac{1}{p} < \ln \frac{q-1}{p-1}.$$

The bounds $s_1(p, q)$, $\ln \frac{p}{q}$, $S_1(p, q)$ are the best possible for two fixed natural numbers p and q ($q > p$).

PROOF. The assertion for $s_n(p, q)$ is proved in [6]. By analogy we can prove the assertion for $S_n(p, q)$. Namely, we have

$$S_n(p, q) = \sum_{s=p}^{q-1} S_n(s, s+1).$$

Hence, it suffices to prove that for $p = 1, 2, \dots$ $S_n(p, p+1)$ increases, i. e.

$$\alpha_n(p) \stackrel{\text{def}}{=} S_{n+1}(p, p+1) - S_n(p, p+1) < 0 \quad (n, p = 1, 2, \dots).$$

Since

$$\frac{n+1}{n} \frac{1}{pn+p+1} - \frac{1}{pn+k} = \frac{k}{n(pn+p+k)(pn+k)} > 0.$$

or

$$\frac{1}{pn+p+k} > \frac{n}{n+1} \frac{1}{pn+1},$$

we get

$$\begin{aligned} \alpha_n(p) &= \sum_{k=p}^{(p+1)(n+1)-1} \frac{1}{k} - \sum_{k=pn}^{(p+1)n-1} \frac{1}{k} \\ &= \frac{1}{pn+p} - \sum_{k=1}^n \left(\frac{1}{pn+k-1} - \frac{1}{pn+p+k} \right) \\ &\leq \frac{1}{pn+p} - \sum_{k=1}^n \frac{p+1}{(pn+k-1)(pn+p+k)} \\ &\leq \frac{1}{pn+p} - \frac{n}{n+1} \sum_{k=1}^n \frac{p+1}{(pn+k-1)(pn+k)} = 0 \end{aligned}$$

for $p, n = 1, 2, \dots$. Using (11) we easily get (12).

Since, from (11)

$$\lim_{n \rightarrow \infty} s_n(p, q) = \ln \frac{p}{q} \quad \lim_{n \rightarrow \infty} S_n(p, q) = \ln \frac{p}{q}$$

is valid, the bounds are the best possible.

REMARK 6. Corolary 6 is generalization of inequality from [7] (see also [2, pp. 186]).

3. The JENSEN-STEFFENSEN inequality ((8)) may be written in discrete form like this:

If f is a convex function on I and the sequence $x_k \in I$ ($k = 1, \dots, n$) is monotonous, and if the numbers p_k ($k = 1, \dots, n$) satisfy the conditions

$$0 \leq p_k \leq p_n \quad (k = 1, \dots, n-1), \quad p_n > 0, \quad \left(P_k = \sum_{i=1}^k p_i \right)$$

then

$$(13) \quad f\left(\frac{1}{P_n} \sum_{i=1}^n p_i x_i\right) \leq \frac{1}{P_n} \sum_{i=1}^n p_i f(x_i).$$

For $n = 2m - 1$, $p_k = (-1)^{k-1}$ ($k = 1, \dots, 2m - 1$) we get

$$(14) \quad \sum_{i=1}^{2m-1} (-1)^{i-1} f(x_i) \geq f\left(\sum_{i=1}^{2m-1} (-1)^{i-1} x_i\right)$$

REMARK 7. The inequality (14) is proved in [9] for $x_1 > x_2 > \dots > x_{2m-1} > 0$.

From (13), for $x_1 \geq \dots \geq x_n \geq 0$ and $f(0) \leq 0$, we can get (see [10] or [11]):

$$(15) \quad \sum_{k=1}^n (-1)^{k-1} f(x_k) \geq f\left(\sum_{k=1}^n (-1)^{k-1} x_k\right)$$

Now, we shall prove the following theorem:

THEOREM 3. Let f be convex function on I ($0 \in I$), $f(0) \leq 0$, and

$$(16) \quad a_{i-1} \leq b_{i-1} \leq a_i \quad (i = 2, \dots, n), \quad 0 \leq b_n, \quad \sum_{k=1}^n b_k \leq \sum_{k=1}^n a_k.$$

Then

$$(17) \quad \sum_{i=1}^n f(a_i) - \sum_{i=1}^n f(b_i) \geq f\left(\sum_{i=1}^n a_i - \sum_{i=1}^n b_i\right).$$

PROOF. Let $m = n$, $x_{2k-1} = a_k$, $x_{2k} = b_k$ ($k = 1, \dots, n$). The conditions for the application of (14) are fulfilled. So we have

$$\sum_{i=1}^n f(a_i) - \sum_{i=1}^{n-1} f(b_i) \geq f\left(\sum_{i=1}^n a_i - \sum_{i=1}^{n-1} b_i\right),$$

i. e.

$$(18) \quad \sum_{i=1}^n f(a_i) - \sum_{i=1}^n f(b_i) \geq f\left(\sum_{i=1}^n a_i - \sum_{i=1}^{n-1} b_i\right) - f(b_n).$$

Let $n = 2$, $x_1 = \sum_{i=1}^n a_i - \sum_{i=1}^{n-1} b_i$, $x_2 = b_n$. The conditions for the

application of (15) are fulfilled. So we have

$$(19) \quad f\left(\sum_{i=1}^n a_i - \sum_{i=1}^{n-1} b_i\right) - f(b_n) \geq f\left(\sum_{i=1}^n a_i - \sum_{i=1}^n b_i\right).$$

From (18) and (19) we get (17).

REMARK 8. Theorem 3, for nonnegative real numbers a_i and b_i ($i = 1, \dots, n$) and for $f(0) = 0$ is proved in [12] in different way.

COROLLARY 7. *If, in (16), is*

$$\sum_{i=1}^n a_i = \sum_{i=1}^n b_i$$

and if f is convex function on I ($0 \in I$), then

$$(20) \quad \sum_{i=1}^n f(a_i) \geq \sum_{i=1}^n f(b_i).$$

PROOF. Let f be a convex function on I ($0 \in I$). Then function $x \rightarrow f(x) - f(0)$ satisfies the conditions of the Theorem 3. So from (17) we get (20).

COROLLARY 8. *Let $n = 2$, $a_1 = a$, $a_2 = b + c$, $b_1 = a + b$, $b_2 = c$, in Corollary 7. Then for $0 < a \leq c$, $0 < b$ we obtain*

$$(21) \quad f(a) + f(b + c) \geq f(a + b) + f(c)$$

for every function f convex for $x \geq 0$.

REMARK 9. Corollary 8 is given in [13] (see also [14]).

By analogy we can prove:

COROLLARY 9. *Let f be increasing convex function on I ($0 \in I$) and let real numbers a_i and b_i ($i = 1, \dots, n$) satisfy the condition (16). Then the inequality (20) is valid.*

REFERENCES

1. P. LAH and M. RIBARIĆ: Converse of Jensen's inequality for convex functions. Univ.-Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. No 412 — No 460 (1973), 201—205.
2. D. S. MITRINOVIĆ (saradnik P. M. VASIĆ): Analitičke nejednakosti, Beograd, 1970.
3. P. BARTOČ and Š. ZNAM: Mat. Fiz. Časopis. Sloven. Akad. Vied. 16 (1966), 291—298.
4. B. M. MILISAVLJEVIĆ: Remark on an elementary inequality. Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. No 498 — No 541 (1975), 179—180.
5. D. NEŠIĆ: Dokaz obrasca $\lim_{m \rightarrow \infty} \frac{1^m + 2^m + \dots + (n-1)^m}{m+1} = \frac{1}{m+1}$. Glas Srpske akademije 33 (1892).
6. D. D. ADAMOVIĆ and M. R. TASKOVIĆ: Monotony and the best possible bound of some sequences of sums. Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. No 247 — No 273 (1969), 41—50.
7. G. KIROV: Problem 3. Matematika (Sofija), 1968, No 5, 35—36.
8. J. F. STEFFENSEN: On certain inequalities and methods of approximation. J. Institute Actuaries 51 (1919), 274—297.

- 9 G. SZEGO: *Über eine Verallgemeinerung des Dirichletschen Integrals*. *Math. Z.* 52 (1950), 676—685.
10. R. BELLMAN: *On an inequality of Weinberger*. *Amer. Math. Monthly* 60 (1953), 402
11. C. O. IMORU: *The Jensen—Steffenson inequality*. *Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz.* No 461 — No 497 (1974), 91—105.
12. M. BIERNACKI: *Sur les inégalitiès remplies par des expressions dont les termes ont des signes alternès*. *Ann. Univ. Mariae Curie-Skladowska* 7 A (1953), 89—102.
13. J. E. PEČARIĆ: *On an inequality of P. M. VASIĆ and R. R. JANIĆ*. *Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz.* (in print).
14. Lj. STANKOVIĆ and I. B. LACKOVIĆ: *Some remarks on the paper „A note on an inequality“ of V. K. LIM*. *Ibid.* No 461 — No 497 (1964), 51—54.